‘Ajo1papdas pjos os|p syuauodwod [pnpIAIpU|
‘wnulwn|p paysijod-o.adiw 4o sJ0jod
Ppazipoup 3cupijjiig $]43p\-0.4d
Jo as10y> unok ui 3jqpjiDAY

“saijiunjioddo

‘uonpo1qp) Sulinp Suiuonisod
uonedrjdde pajwijun

sapiroad sapjnoys paddals

*24n>as dp> 3y spjoy

1y1 Suli-Q ,,9za3nbs |pipp.,,
Buipas aaisod b yuUM parusA-uou
puD ‘wnurwnip 13119 1y Samaysi|
wouj paulyspw uoisidd.4d 3.4p
sdpd jj} NYNL ASYT $149M-0.4d

NDIS3a LYVWS

w3y dunq 91/ |
ppaJy1 y3Ip13s g-4/€-€

3y 3unq ,91/] |
PD2IY2 WBIDNAS §-1/C-§

paysIjog e e 1 ( paystjog e 6/,.LVvID
ang e ULV xx ? @ % anjg 111515
poy e 11141 ‘1 @(.( pay e 9L 11D
B i ‘ Il e S/l biy
dvd ub/L-b e A dvd ub/L-b
- anjg e IH-LLL¥LD WA\ - ~———
Al Sy Sung _g/s poy TH9LL 1D A i sy 8ung _g/¢
ppaay1 y8Ibns 0 [-4/]-7 Soe|g TH-SLL YLD ! Ppa1y1 8I01S 0| -/ | -Z

"DIp 92412 3]0q 8/ [ -§ U0 S3J0Y 9

P3Ysljod === YLL-ELD Ppaiiy1 y8I011S O [ -4/ [ -7
T w— Pt
] Vil % ISOH ..T
)I:)Ela ................ OLL-ELD 4

dVd ..V/E'Z

wsray 8unq z/|
PaUSI[Og 11T 6S1-51D =N ppaJyr y3ipns 7|-7/|-|

sy unq  7/|

Da.Iy1 SIS 7 -7/ |-
paysI[Og YS/-€1D pDa.y1 1ysl Z1-7/1-1

anyg e 781610

A T
Lo 1580y |
paystjod " CH-6SL¥LD
dv: " z enig CH-LSL YLD
psy CH-9SL¥.D
Pe|g CH-SSL¥LD

w3y unq  7/|
PD34y2 y8IDAS 7| -p/[-|

ydrey 3unq , z/)

"DIP 32412 3/0q  8/€ - UO S3J0Y 9
paYsIjOg e 6€L-€1D ppaIY2 yBIDNS 7| ]| - |

poaiuy3 y3ipas 71-z/1-|
ISOH .<T

dV) aa Z( ”_\i, >
&) o dvD .8/S-L

Pa}:l ................ | SL-EL:)
)IDEIS ................ OEL-ELD {

d¥) . 8/5' L

\ _—
+de> J0j Suli-Q eung sapnpuj
*s3y319Y [euonyIppe pue |333)s Ssajule)s ul *de> .40} 3uli-Q eung pue asempJaey Sununow ‘Sung de> 40} Suli-Q eung sapnjduj Aj9jesedss sjqejieae
Ajoyeaedas sjqejieae osje aJe s3ung *paiinbau si wnujwnje pazipoue J3Ajis ‘ded sapnpuj ‘|jaued e uo juiod aJe s3y3ivy Sunq [euonippy ‘pa4inbau si Suipjam
Suipjam usaym uonediige) [933s WOISND 10} 3234194 Suljjy e Sunyedoj 4o} uonN|os Junow Ysnjj SANdEAIIE Uy uayM uoiedLIqe) wnujwnje 4o} si Alquiasse siy |
A1aw3assyv dvd A1aw3assyv dvd A1aw3assyv dvd

SNN4d NI-@73M 1331S SNNd 3LOW3YH @3ss3d3d DNNd NI-@7am WANIwWNIv

BOLT-ON BUNG REMOTE MOUNT BUNG THE MOST COMPLETE
CAP ASSEMBLY CAP ASSEMBLY SELECTION OF VERSATILE

Ideal for installing on materials that are too fragile to Remote mounting increases versatility to any installation. F I LLI NG so LUTI o Ns
weld, composites or components with a protective finish. Includes silver anodized aluminum bung, mounting
Includes silver anodized aluminum bung, mounting hardware and Buna O-ring for cap.

hardware and Buna O-ring for cap and bung.

2" CAP

1 {4
C73-735-B........ Black . P 2" HOSE E Asv
_ C73-736-B............ Red % i I
C73-737-Buee.. Blue i1l () AT ac
I-114-12 straigliggiamsis C73-739-B........... Polished W 1 gi;ﬁ?ﬂ% ---------- Eled Tu RN
vy i i 1-1/2-12 straight thread C73.739H2 - Polished

9/16” bung height 4 holes on 2-3/4” bolt circle dia.

9/16” bung height

FILL CAPS

Pho-7E7A3)
qAP 2-3/4" CAP
C73-755-B............. Black 2" HOSE * Positive grip
C73-756-B............. Red fi tch
C73-757-B Blue ingegnotches
8 2 ot D \ C73-775-H2.......... Black
- C73-759-B............. Polished C73-776-H2 ......... Red .
I-1/2-12 straight thread C73-777-H2 ... Blue * Choice of four
4 holes on 2-1/4" bolt circle dia. C73-779-H2.......... Polished brilliant colors

9/16” bung height .
to compliment

2-1/4-10 straight thread
your style

4 holes on 3-1/4" bolt circle dia.
11/16” bung height

® Quick-starting
coarse threads

2-3/4" CAP

C73-775-B.......... Black 2-1/2" HOSE M .
C73-776B ........... Red ounting
C73-777-B..coccvce Blue C73-775-H25........ Black € bungs to
C73-779-B............. Polished C73-776-H25 ........ Red
2-1/4-10 straight thread C73-777-H25 ........ Blue fit eYery.
5 holes on 3-1/8” bolt circle dia. C73-779-H25 ........ Polished appllcatlon
1'1/16” bung height
2-1/4-10 straight thread =
4 holes on 3-1/4" bolt circle dia. % Proudly Made
. | o . —— In the USA!
Bung is machined to accept 11/16” bung height e

Buna O-ring for leak-proof seal

PRECISION COMPONENTS
FOR QUALITY FABRICATION

Integrated nipple barb

for improved sealing and
increased hose retention. -

Rev. Date 10-25-2023

Easy bolt-on installation.




BOLT-ON FUEL CELL ASSEMBLIES

Direct replacement provides
simple installation

EASY
TURN

FILL CAPS

Stop fighting the troublesome original.

6 BOLT ASSEMNMBLY SILVER 6 BOLT BUNG ASSEMBLY

2-3/4” cap, 2-1/4-10 straight thread & ' . )
6 holes on 4-7/16" bolt circle dia. D
3/4” bung height .

C73-706
Red Cap

C73-709
Polished Cap

C73-705 C73-707
Black Cap Blue Cap

BLACK 6 BOLT BUNG ASSEMBLY

e @
e ® C73-706-BLK C73-709-BLK
’ ) y ; Red Cap Polished Cap
e o
C73-705-BLK C73-707-BLK
Includes Black Cap Blue Cap

mounting hardware,
Buna flange gasket,
and Cap O-ring

“You can a’way s count on ® Staf't:er nose leads cap into
Pro-Werks to do it right!” position

Part #
C73-715

WATCH THE VIDEO

¢ Integrated lanyard boss
to attach optional chain

* Quick acting coarse
threads

LANYARD CHAIN KIT

fits all fuel cell assemblies

* Positive sealing “radial
squeeze” Buna O-ring

12 BOLT ASSEMBLY SILVER 12 BOLT BUNG ASSEMBLY

4-1/4” cap, 3-3/4-8 straight thread
12 holes on 5-11/32" bolt circle dia.
7/8” bung height

C74-716 C74-719
Red Cap Polished Cap

BLACK 12 BOLT BUNG ASSEMBLY

W e

C74-715
Black Cap

C74-717
Blue Cap

o-2E7RED FH0-LOERRED
; ; C74-715-BLK C74-717-BLK
- - Black Cap Blue Cap
2.2 e N
T2 Includes L
. % mounting hardware, %3 -

Buna flange gasket, C74-716-BLK C74-719-BLK
and Cap O-ring Red Cap Polished Cap

Large opening is also suitable
for intercooler ice boxes

PRECISION COMPONENTS
FOR QUALITY FABRICATION

W0-LUERKS )

For more information, visit:

WWW.PRO-WERKS.COM



